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.     Starter    .
Differentiate the following:

 1) 
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3)                                  Find 
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4) Find the gradient of the tangent to                          at x = -1
5) Find the equation of the tangent line to the curve  
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6) Find the coordinates of the turning points on the curve 
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 and use calculus to determine the minimum or maximum points
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.     Max & Min Applications    .
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2010 Exam Q
[image: image10.png]3 2
)= 3x - —x
’ 4




The entrance to the Italian Gardens in Hamilton has a curved trellis on top of two vertical side-sections of equal height. 
The curved section can be modelled by the parabola 
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where x is the horizontal distance in metres from the left side of the trellis and y is the height in metres of the curved parabolic section of the trellis above the top of the vertical sides. 
Use calculus to find the maximum height of the curved parabolic section of the trellis above the vertical sides.
2009 Exam Q  (really hard)
A piece of wire of length 40 cm is cut into two pieces. 

One piece is bent to form a square, while the other is bent to form an equilateral triangle. 

Find the length of the wire used for the square if the sum of the areas of the two shapes is a minimum.
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